JAVBEMY—IV T X MR A [A4/ 21— 86.4X50.8/ &H : £ 21.2 F 21.8 &£ 18.6mm] 4987299112552A

mmE: 7A P=)bay 7A w7 A M=oy A

10mL H [15 U ED 1 EEICHEY ] 10mL R [15 U ED 1 EEITHEY]

bUX S/ — ) IBEIEKAIY Tmg; 7OV T T Z53UX U XS/ —)UBEEEKANY) Tmg; 7OV T 253X
LA > BtE 2mg; E X HFHEITF X 0.1667mL LA > BEtE 2mg; T HRITF X 0.1667mL

mmE: 7A F=)bay 7A w7 A M=oy FA

10mL H [15 U ED 1 EEICHEY ] 10mL R [15 U ED 1 [EEITHEY]

bUX S/ — ) IBEIEKAIY Tmg; 7OV T T 253 UX U XS/ —)UBEEEKANY) Tmg; 7OILT T 252X
LA > BtE 2mg; E X HFHEITF X 0.1667mL LA »BEtE 2mg; T X HRITF X 0.1667mL

mmE: 7A P=)bay 7A mEE: ZA =)y 7A

10mL H [15 U ED 1 EEICHEY ] 10mL R [15 U ED 1 [EEITHEY]

bUX S/ — ) IBEIEKAIY Tmg; 7OV T T 253 UX U XS/ —)UIBEEEKANY) Tmg; 7OV T 253X
LA > BtE 2mg; E X HFHEITF X 0.1667mL LA »BEtE 2mg; T AR I+ X 0.1667mL

mmE: 7A P=)bay 7A w7 A M=oy A

10mL H [15 U ED 1 EEICHEY ] 10mL R [15 U ED 1 EEITHEY]

bUX S/ — ) IBEEKAIY Tmg; 7OV T T 253 UX U XS/ —)UBEEEKANY) Tmg; VOILT T 253X
LA > BtE 2mg; E X HFHEITF X 0.1667mL LA > BEtE 2mg; X HRITF X 0.1667mL

mmE: 7A P=)bay 7A w7 A M=oy FA

10mL H [15 U ED 1 EEICHEY ] 10mL R [15 U ED 1 EEITHEY]

bUXFE/—) VBRI Img, VRV T I 252U MUXME/—)VIBEIEKENY) Img; VRV T I 25 IUX
L1 VBt 2mg; 3 ARI F X 0.1667mL L1 VBE 2mg; L2 AT+ R 0.1667mL



